
 

 
Part 1 LE940−3, De140−3

Equality of 5 step colour series by two definitions (Yes/No decision)
Layout example: three 5 step colour series HP Laserjet CP1514n

There are 3 basic colours on each page: N, W, X.
Ten pages include 10 hue planes
X = OYLCVM and RJGB.
Any colour is defined by two different
PS-operators in center and surround field.
PS test chart 1 (rgb −> rgbd)
according to DIN 33872−4, file −> PS printer

White W

Chromatic X

    Black N

5 steps

5 steps

5 steps

All  colours of the three series N−W, W−X and X−N should equal on all pages
Are the center and surround field colours equal on all pages? underline:  Yes/No
only if No:

How many of the 3x4=12 steps are equal?
Page   1: equal are out of 12 steps: ......... 01 steps of O = Orange red
Page   2: equal are out of 12 steps: ......... 02 steps of Y = Yellow
Page   3: equal are out of 12 steps: ......... 01 steps of L = Leaf green
Page   4: equal are out of 12 steps: ......... 02 steps of C = Cyan blue
Page   5: equal are out of 12 steps: ......... 01 steps of V = Violet blue
Page   6: equal are out of 12 steps: ......... 01 steps of M = Magenta red
Page   7: equal are out of 12 steps: ......... 01 steps of R = Elementary Red
Page   8: equal are out of 12 steps: ......... 01 steps of J = Elementary Yellow
Page   9: equal are out of 12 steps: ......... 01 steps of G = Elementary Green
Page 10: equal are out of 12 steps: ......... 01 steps of B = Elementary Blue

−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
Sum: Of the given 3x4x10=120 steps ......... 12 steps are equal  

 

 

 
Part 2 LE940−7, De141−3

Equality of 16 step colour series by two definitions (Yes/No decision)
Layout example: three 16 step colour series HP Laserjet CP1514n

There are 3 basic colours on each page: N, W, X.
Ten pages include 10 hue planes
X = OYLCVM and RJGB.
Any colour is defined by two different
PS-operators in center and surround field.
PS test chart 1 (rgb −> rgbd)
according to DIN 33872−4, file −> PS printer

White W

Chromatic X

    Black N

16 steps

16 steps

16 steps

All  colours of the three series N−W, W−X and X−N should equal on all pages
Are the center and surround field colours equal on all pages? underline:  Yes/No
only if No:

How many of the 3x15=45 steps are equal?
Page   1: equal are out of 45 steps: ......... 03 steps of O = Orange red
Page   2: equal are out of 45 steps: ......... 03 steps of Y = Yellow
Page   3: equal are out of 45 steps: ......... 03 steps of L = Leaf green
Page   4: equal are out of 45 steps: ......... 03 steps of C = Cyan blue
Page   5: equal are out of 45 steps: ......... 04 steps of V = Violet blue
Page   6: equal are out of 45 steps: ......... 03 steps of M = Magenta red
Page   7: equal are out of 45 steps: ......... 03 steps of R = Elementary Red
Page   8: equal are out of 45 steps: ......... 04 steps of J = Elementary Yellow
Page   9: equal are out of 45 steps: ......... 03 steps of G = Elementary Green
Page 10: equal are out of 45 steps: ......... 03 steps of B = Elementary Blue

−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
Sum: Of the given 3x15x10=450 steps ......... 32 steps are equal

 

 

  

 
Part 3 LE941−3, De140−3

Equality of 5 step colour series by two definitions (Yes/No decision)
Layout example: three 5 step colour series RECS colour atlas, linearized offset print

There are 3 basic colours on each page: N, W, X.
Ten pages include 10 hue planes
X = OYLCVM and RJGB.
Any colour is defined by two different
PS-operators in center and surround field.
PDF test chart 1 (rgb −> rgb*d−> cmyn*d) 
according to DIN 33872−4, file −> offset

White W

Chromatic X

    Black N

5 steps

5 steps

5 steps

All  colours of the three series N−W, W−X and X−N should equal on all pages
Are the center and surround field colours equal on all pages? underline:  Yes/No
only if No: inapplicable

How many of the 3x4=12 steps are equal?
Page   1: equal are out of 12 steps: ......... steps of O = Orange red
Page   2: equal are out of 12 steps: ......... steps of Y = Yellow
Page   3: equal are out of 12 steps: ......... steps of L = Leaf green
Page   4: equal are out of 12 steps: ......... steps of C = Cyan blue
Page   5: equal are out of 12 steps: ......... steps of V = Violet blue
Page   6: equal are out of 12 steps: ......... steps of M = Magenta red
Page   7: equal are out of 12 steps: ......... steps of R = Elementary Red
Page   8: equal are out of 12 steps: ......... steps of J = Elementary Yellow
Page   9: equal are out of 12 steps: ......... steps of G = Elementary Green
Page 10: equal are out of 12 steps: ......... steps of B = Elementary Blue

−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
Sum: Of the given 3x4x10=120 steps ......... steps are equal  

 

 

 
Part 4 LE941−7, De141−3

Equality of 16 step colour series by two definitions (Yes/No decision)
Layout example: three 16 step colour series RECS colour atlas, linearized offset print

There are 3 basic colours on each page: N, W, X.
Ten pages include 10 hue planes
X = OYLCVM and RJGB.
Any colour is defined by two different
PS-operators in center and surround field.
PDF test chart 1 (rgb −> rgb*d−> cmyn*d) 
according to DIN 33872−4, file −> offset

White W

Chromatic X

    Black N

16 steps

16 steps

16 steps

All  colours of the three series N−W, W−X and X−N should equal on all pages
Are the center and surround field colours equal on all pages? underline:  Yes/No
only if No: inapplicable

How many of the 3x15=45 steps are equal?
Page   1: equal are out of 45 steps: ......... steps of O = Orange red
Page   2: equal are out of 45 steps: ......... steps of Y = Yellow
Page   3: equal are out of 45 steps: ......... steps of L = Leaf green
Page   4: equal are out of 45 steps: ......... steps of C = Cyan blue
Page   5: equal are out of 45 steps: ......... steps of V = Violet blue
Page   6: equal are out of 45 steps: ......... steps of M = Magenta red
Page   7: equal are out of 45 steps: ......... steps of R = Elementary Red
Page   8: equal are out of 45 steps: ......... steps of J = Elementary Yellow
Page   9: equal are out of 45 steps: ......... steps of G = Elementary Green
Page 10: equal are out of 45 steps: ......... steps of B = Elementary Blue

−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−
Sum: Of the given 3x15x10=450 steps ......... steps are equal
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Printer and offset print output, Equality of colour scales and
discriminability of colour scales (Two Yes/No decisions)

input: rgb−>rgbd, cmy0−>cmy0d
output: −>rgb* d, cmyn*d (offset)

http://130.149.60.45/~farbmetrik/LE94/LE94L0NA.TXT /.PS; start output HP Laserjet CP 1415n
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D) RECS, standard offset

S
ee original or copy: http://w

eb.m
e.com

/klaus.richter/LE
94/LE

94L0N
A

.T
X

T
 /.P

S
T

echnical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik

T
U

B
 registration: 20110301-LE

94/LE
94L0N

A
.T

X
T

 /.P
S

T
U

B
 registration: 20110301-LE

94/LE
94L0N

A
.T

X
T

 /.P
S

T
U

B
 m

aterial: code=
rha4ta

 application for output of m
onitor, data projector, or printer system

s


